S kR / [ 78— 2 0 A ‘P @ k 1
PEEK/HO |

EHhiRT R Size (mm) EHiRT R Size (mm)
Part Number M DK K n Part Number M DK K n

04000H0020040010  M2x10 3.65 1.2 0.63 04000H0080125030  M8x30 15.59 4.65 219
04000H0030050006  M3x6 535 1.65 093 04000H0080125035 M8x35 15.59 465 219
04000H0030050008 M3x8 535 1.65 093 04000H0080125040  M8x40 1559 4.65 219
04000H0030050010  M3x10 535 1.65 093 04000H0080125045  M8x45 15.59 465 219
04000H0030050012  M3x12 535 1.65 093 04000H0100150020 M™M10x20 18.04 5 2.69

04000H0030050016  M3x16 535 1.65 093 04000H0100150025 M10x25 18.04 5 2.69
04000H0030050020  M3x20 535 1.65 093 04000H0100150030 M™M10x30 18.04 5 2.69
04000H0030050025  M3x25 535 165 093 04000H0100150035 M10x35 18.04 5 2.69
04000H0040070008  M4x08 8.22 2.7 139 04000H0100150040 M™M10x40 18.04 5 2.69
04000H0040070010  M4x10 8.22 27 139 04000H0100150045 M10x45 18.04 5 2.69
04000H0040070012  M4x12 822 27 139 04000H0100150050 M™M10x50 18.04 5 2.69
04000H0040070016  M4x16 822 27 139 04000H0100150055 M10x55 18.04 5 2.69
04000H0040070020  M4x20 822 2.7 139 04000H0100150060 M™M10x60 18.04 5 2.69

04000H0040070025  M4x25 822 27 139
04000H0040070030  M4x30 822 27 139
04000H0040070040  M4x40 822 27 139
04000H0040070050  M4x50 822 27 139
04000H0050080010  M5x10 9.12 27 1.39
04000H0050080012  M5x12 912 27 139
04000H0050080016  M5x16 9.12 27 1.39
04000H0050080020  M5x20 9.12 27 139
04000H0050080025  M5x25 912 27 1.39
04000H0050080030  M5x30 9.12 27 139
04000H0050080040  M5x40 9.12 27 1.39
04000H0050080050  M5x50 9.12 27 139
04000H0060100008 Mex8 11.07 33 1.79
04000H0060100010  M6x10 11.07 3.3 179
04000H0060100006  M6x12 11.07 3.3 179
04000H0060100016  M6x16 11.07 3.3 179
04000H0060100020  M6x20 11.07 3.3 1.79
04000H0060100025  M6x25 11.07 3.3 179
04000H0060100030  M6x30 11.07 3.3 1.79
04000H0060100035  M6x35 11.07 3.3 179
04000H0060100040  M6x40 11.07 3.3 1.79
04000H0060100050  M6x50 11.07 3.3 179
04000H0080125016  M8x16 15.59 4.65 219
04000H0080125020  M8x20 15.59 4.65 219
04000H0080125025  M8x25 15.59 4.65 219

hR#EFTA BIENAATE



RRA %/ EE—F IR 4% “

PVDF/H S O

EH-4RIR g Size (mm) SH4mIR g Size (mm)
Part Number M DK K n Part Number M DK K n

05000H0020040005  M2x5 365 12 063 05000H0080125020  M8x20 15.59 4.65 219
05000H0020040006 M2x6  3.65 1.2 063 05000H0080125025  M8x25 15.59 4.65 219
05000H0020040008  M2x8 365 1.2 0.63 05000H0080125030 M8x30 15.59 4.65 219
05000H0020040010 M2x10 3.65 1.2 063 05000H0080125035 M8x35 1559 4.65 219
05000H0020040012 M2x12 365 1.2 063 05000H0080125040  M8x40 15.59 4.65 219
05000H0020040016  M2x16 3.65 1.2 0.63 05000H0100150020 M10x20 18.04 5 2.69
05000H0020040020 M2x20 3.65 1.2 0.63 05000H0100150025 M10x25 18.04 5 2.69
05000H0030050004  M3x4 535 165 093 05000H0100150030 M10x30 18.04 5 2.69
05000H0030050005  M3x5 535 1.65 093 05000H0100150035 M™M10x35 18.04 5 2.69
05000H0030050006  M3x6 535 1.65 0.93
05000H0030050008  M3x8 535 165 093
05000H0030050010  M3x10 535 165 0.93
05000H0030050012  M3x12 535 165 0093
05000H0030050016  M3x16 535 1.65 0093
05000H0030050020  M3x20 535 1.65 0093
05000H0030050025  M3x25 535 1.65 0.93
05000H0040070008  M4x08 822 27 139
05000H0040070010  M4x10 822 27 139
05000H0040070012  M4x12 822 27 139
05000H0040070016  M4x16 822 27 139
05000H0040070020  M4x20 822 27 139
05000H0040070025  M4x25 822 27 139
05000H0040070030  M4x30 822 27 139
05000H0050080006  M5x06 9.12 2.7 1.39
05000H0050080008  M5x08 9.12 27 139
05000H0050080010  M5x10 9.12 27 139
05000H0050080012  M5x12 912 27 139
05000H0050080016  M5x16 9.12 27 139
05000H0050080020  M5x20 9.12 27 1.39
05000H0050080025  M5x25 912 27 1.39
05000H0050080030  M5x30 9.12 27 139
05000H0060100008  M6x8 11.07 3.3 179
05000H0060100010  M6x10 11.07 3.3 179
05000H0060100006  M6x12 11.07 3.3 179
05000H0060100016  M6x16 11.07 3.3 179
05000H0060100020  M6x20 11.07 3.3 1.79
05000H0060100025  M6x25 11.07 3.3 179
05000H0060100030  M6x30 11.07 3.3 179
05000H0080125016  M8x16 15.59 4.65 219

FRHEFTA BIENLAFE



ZRE L%/ MBE—F IR 4% “

PTFE/HO |

EHIRE R Size (mm) EH4RR R Size (mm)
Part Number Y/ DK K n Part Number Y/ DK K n

29000H0030050004  M3x4 535 1.65 093 29000H0080125050  M8x50 15.59 4.65 219
29000H0030050006  M3x6 535 1.65 093 29000H0080125055  M8x55 15.59 465 219
29000H0030050008 M3x8 535 1.65 093 29000H0080125060  M8x60 1559 4.65 2.19
29000H0030050010  M3x10 535 1.65 093 29000H0080125065  M8x65 15.59 465 219
29000H0030050012  M3x12 535 1.65 093 29000H0080125070  M8x70 15.59 465 219
29000H0030050016  M3x16 535 1.65 093 29000H0080125075  M8x75 15.59 465 219
29000H0030050020  M3x20 5.35 1.65 093 29000H0080125080  M8x80 15.59 4.65 219
29000H0030050025  M3x25 535 1.65 093 29000H0080125085  M8x85 15.59 465 219
29000H0030050030  M3x30 535 1.65 093 29000H0080125090  M8x90 15.59 465 219
29000H0040070012  M4x12 822 27 139 29000H0100150012 M™M10x12 18.04 5 2.69

29000H0040070016  M4x16 822 2.7 139 29000H0100150016 M10x1l6 18.04 5 2.69
29000H0040070020  M4x20 8.22 2.7 139 29000H0100150020 M10x20 18.04 5 2.69
29000H0040070025  M4x25 822 27 139 29000H0100150025 M10x25 18.04 5 2.69
29000H0040070030  M4x30 822 2.7 139 29000H0100150030 M10x30 18.04 5 2.69
29000H0050080012  M5x12 912 27 139 29000H0100150035 M10x35 18.04 5 2.69
29000H0050080016  M5x16 9.12 2.7 139 29000H0100150040 M10x40 18.04 5 2.69
29000H0050080020  M5x20 912 2.7 139 29000H0100150045 M10x45 18.04 5 2.69
29000H0050080025  M5x25 912 27 139 29000H0100150050 M10x50 18.04 5 2.69
29000H0050080030  M5x30 9.12 27 139 29000H0100150055 M10x55 18.04 5 2.69
29000H0050080035  M5x35 912 27 139 29000H0100150060 M10x60 18.04 5 2.69
29000H0050080040  M5x40 9.12 2.7 139 29000H0100150065 M10x65 18.04 5 2.69
29000H0060100006  M6x12 11.07 3.3 179 29000H0100150070 M10x70 18.04 5 2.69
29000H0060100016  M6x16 11.07 3.3 179 29000H0100150075 M10x75 18.04 5 2.69
29000H0060100020  M6x20 11.07 3.3 179 29000H0100150080 M10x80 18.04 5 2.69
29000H0060100025  M6x25 11.07 3.3 179 29000H0100150085 M10x85 18.04 5 2.69
29000H0060100030  M6x30 11.07 3.3 179 29000H0100150090 M10x90 18.04 5 2.69
29000H0060100035  M6x35 11.07 3.3 179 29000H0100150095 M10x95 18.04 5 2.69
29000H0060100040  M6x40 11.07 3.3 179 29000H0100150100 M10x100 18.04 5 2.69

29000H0060100045  M6x45 11.07 3.3 1.79
29000H0060100050  M6x50 11.07 3.3 179
29000H0080125012  M8x12 1559 4.65 219
29000H0080125016  M8x16 15.59 4.65 219
29000H0080125020  M8x20 15.59 4.65 219
29000H0080125025  M8x25 15.59 4.65 219
29000H0080125030  M8x30 15.59 4.65 219
29000H0080125035  M8x35 15,59 4.65 219
29000H0080125040  M8x40 15.59 4.65 219
29000H0080125045  M8x45 1559 465 219

FRHEFRA BIENLATE



FRRAEEE/ME—F R4 ﬂ :

PFA/HO (

L

B4R R Size (mm) EHiRE R Size (mm)
Part Number Y/ DK K ] Part Number M DK K n

31000H0040070006 M4x6 822 27 139 31000H0080125050 M8x50 15.59 465 2.19
31000H0040070008 M4x8 822 27 139 31000H0080125055 M8x55 1559 465 219
31000H0040070010  M4x10 822 2.7 139 31000H0080125060 M8x60 15.59 465 2.19
31000H0040070012  M4x12 822 2.7 139 31000H0100150010 M10x10 18.04 5 2.69

31000H0040070016  M4x16 822 2.7 139 31000H0100150020 M10x20 18.04 5 2.69
31000H0040070020  M4x20 822 2.7 139 31000H0100150025 M10x25 18.04 5 2.69
31000H0040070025  M4x25 822 27 139 31000H0100150030 M10x30 18.04 5 2.69
31000H0040070030  M4x30 822 2.7 139 31000H0100150035 M10x35 18.04 5 2.69
31000H0040070035  M4x35 822 27 139 31000H0100150040 M10x40 18.04 5 2.69
31000H0040070040  M4x40 822 2.7 1.39 31000H0100150045 M10x45 18.04 5 2.69
31000H0050080006  M5x6 912 2.7 1.39 31000H0100150050 M10x50 18.04 5 2.69
31000H0050080008  M5x8 912 2.7 1.39 31000H0100150055 M10x55 18.04 5 2.69
31000H0050080010  M5x10 9.12 2.7 139 31000H0100150060 M10x60 18.04 5 2.69

31000H0050080012  M5x12 912 2.7 139
31000H0050080016  M5x16 9.12 2.7 139
31000H0050080020  M5x20 9.12 27 1.39
31000H0050080025  M5x25 912 27 1.39
31000H0050080030  M5x30 9.12 2.7 1.39
31000H0050080035  M5x35 912 27 139
31000H0050080040  M5x40 9.12 2.7 139
31000H0060100006  M6x6 11.07 3.3 179
31000H0060100008  M6x8 11.07 3.3 1.79
31000H0060100010  M6x10 11.07 3.3 1.79
31000H0060100012  M6x12 11.07 3.3 1.79
31000H0060100016  M6x16 11.07 3.3 179
31000H0060100020  M6x20 11.07 3.3 179
31000H0060100025  M6x25 11.07 3.3 179
31000H0060100030  M6x30 11.07 3.3 1.79
31000H0060100035  M6x35 11.07 3.3 1.79
31000H0060100040  M6x40 11.07 3.3 1.79
31000H0080125010  M8x10 15.59 4.65 219
31000H0080125012  M8x12 1559 4.65 219
31000H0080125016  M8x16 15.59 4.65 2.19
31000H0080125020  M8x20 15.59 4.65 2.19
31000H0080125025  M8x25 15.59 4.65 219
31000H0080125030  M8x30 15.59 4.65 219
31000H0080125035  M8x35 1559 4.65 219
31000H0080125040  M8x40 15.59 4.65 219
31000H0080125045  M8x45 1559 4,65 219

hR#EFR7A BIENLATE



RANEL/ I 58— 1R 4% N

PPS/HO il

SRR g Size (mm) SH4mR g Size (mm)
Part Number M DK K n Part Number M DK K n
31000H0020040005 M2x5 365 1.2 0.63 31000H0080125016 M8x16 1559 465 219
31000H0020040006 M2x6 365 12 0.63 31000H0080125020 M8x20 1559 465 219
31000H0020040008 M2x8 365 12 0.63 31000H0080125025 M8x25 1559 465 219
31000H0020040010 M2x10 3.65 1.2 063 31000H0080125030 M8x30 1559 4.65 219
31000H0020040012 M2x12 365 12 063 31000H0080125035 M8x35 1559 465 219
31000H0020040016  M2x16 3.65 1.2 063 31000H0080125040 M8x40 15.59 465 219
31000H0020040020 M2x20 3.65 12 063 31000H0100150020 M10x20 18.04 5 2.69
31000H0030050004 M3x4 535 165 0.93 31000H0100150025 M10x25 1804 5 2.69
31000H0030050005 M3x5 535 165 0.93 31000H0100150030 M10x30 1804 5 2.69
31000H0030050006 M3x6 535 165 0.93 31000H0100150035 M10x35 1804 5 2.69
31000H0030050008 M3x8 535 165 0.93

31000H0030050010 M3x10 5.35 1.65 0.93

31000H0030050012 M3x12 535 1.65 0.93

31000H0030050016  M3x16 535 1.65 0.93

31000H0030050020 M3x20 535 1.65 0.93

31000H0030050025 M3x25 535 1.65 0093

31000H0040070006 M4x6 822 27 139

31000H0040070008 M4x8 822 27 139

31000H0040070010 M4x10 822 27 139

31000H0040070012 M4x12 822 27 139

31000H0040070016  M4x16 822 27 139

31000H0040070020 M4x20 822 27 139

31000H0040070025 M4x25 822 27 139

31000H0040070030 M4x30 822 27 139

31000H0050080006 M5x6 912 27 139

31000H0050080008 M5x8 912 27 139

31000H0050080010  M5x10 9.12 27 1.39

31000H0050080012  M5x12 912 27 139

31000H0050080016  M5x16 9.12 2.7 1.39

31000H0050080020  M5x20 9.12 2.7 1.39

31000H0050080025 M5x25 912 27 139

31000H0050080030  M5x30 9.12 27 1.39

31000H0060100008 M6x8 11.07 33 1.79

31000H0060100010  M6x10 11.07 33 1.79

31000H0060100012 M6x12 11.07 33 179

31000H0060100016  M6x16 11.07 3.3 1.79

31000H0060100020  M6x20 11.07 3.3 1.79

31000H0060100025  M6x25 11.07 33 179

31000H0060100030  M6x30 11.07 3.3 179

[=Y

L

WRtEFR7A BIENLATE



A/ — 1844 S

PP/HO ®

SRR 18 Size (mm) SH4RR s Size (mm)

Part Number M DK K n Part Number M DK K n

01040H0020010405 M2x5 365 1.2 0.63 01040H0080125020 M8x20 1559 465 219
01040H0020010406 M2x6 365 1.2 0.63 01040H0080125025 M8x25 1559 4.65 219
01040H0020010408 M2x8 365 12 0.63 01040H0080125030 M8x30 1559 4.65 219
01040H0020040010  M2x10 3.65 1.2 063 01040H0080125035 M8x35 1559 465 219
01040H0020040012 M2x12 3,65 12 0.63 01040H0080125040 M8x40 15.59 465 219
01040H0020040016  M2x16 3.65 1.2 063 01040H0100150020 M10x20 18.04 5 269
01040H0020040020  M2x20 3.65 1.2 063 01040H0100150025 M10x25 18.04 5 269
01040H0030050004 M3x4 535 165 093 01040H0100150030 M10x30 1804 5  2.69
01040H0030050005 M3x5 535 1.65 0.93 01040H0100150035 M10x35 1804 5 2.69
01040H0030050006 M3x6 535 165 093
01040H0030050008 M3x8 535 165 0.93
01040H0030050010  M3x10 535 1.65 0.93
01040H0030050012 M3x12 535 165 0.93
01040H0030050016  M3x16 535 1.65 0.93
01040H0030050020  M3x20 5.35 1.65 0.93
01040H0030050025  M3x25 535 1.65 0093
01040H0040070008 M4x8 822 27 139
01040H0040070010  M4x10 822 27 139
01040H0040070012 M4x12 822 27 139
01040H0040070016  M4x16 822 27 139
01040H0040070020  M4x20 822 27 139
01040H0040070025  M4x25 822 27 139
01040H0040070030  M4x30 822 27 139
01040H0050080006 M5x6 912 27 139
01040H0050080008 M5x8 912 27 139
01040H0050080010  M5x10 9.12 277 139
01040H0050080012 M5x12 912 2.7 139
01040H0050080016  M5x16 9.12 27 139
01040H0050080020  M5x20 9.12 2.7 139
01040H0050080025  M5x25 912 277 139
01040H0050080030  M5x30 9.12 2.7 139
01040H0060100008 M6x8 11.07 33 1.79
01040H0060100010  M6x10 11.07 3.3 179
01040H0060100012  M6x12 11.07 3.3 179
01040H0060100016  M6x16 11.07 3.3 1.79
01040H0060100020  M6x20 11.07 3.3 179
01040H0060100025 Mex25 11.07 33 179
01040H0060100030  M6x30 11.07 3.3 1.79
01040H0080125016  M8x16 15.59 4.65 219

hr PR BIENLT



("
[=%

REZ%/ MEE—F B4 r @
PVC/HO -

SRR R Size (mm) SHERT R Size (mm)
Part Number M DK K n Part Number M DK K n
03030H0020040005 M2x5 365 1.2 063 03030H0080125020 M8x20 1559 465 219
03030H0020040006 M2x6 365 1.2 063 03030H0080125025 M8x25 1559 4.65 219
03030H0020040006 M2x8 365 1.2 063 03030H0080125030 M8x30 1559 465 219
03030H0020040010 M2x10 3.65 12 0.63 03030H0080125035 M8x35 1559 465 219
03030H0020040012 M2x12 3.65 12 0.63 03030H0080125040 M8x40 1559 465 219
03030H0020040016 M2x16 3.65 12 0.63 03030H0100150020 M10x20 18.04 5 2.69
03030H0020040020 M2x20 3.65 12 0.63 03030H0100150025 M10x25 18.04 5 2.69
03030H0030050004 M3x4 535 165 093 03030H0100150030 M10x30 18.04 5 2.69
03030H0030050005 M3x5 535 165 093 03030H0100150035 M10x35 18.04 5 2.69
03030H0030050006 M3x6 535 165 0.93

03030H0030050008 M3x8 535 165 0.93

03030H0030050010 M3x10 535 1.65 0.93

03030H0030050012 M3x12 535 1.65 0.93

03030H0030050016 M3x16 535 1.65 0.93

03030H0030050020 M3x20 535 1.65 0.93

03030H0030050025 M3x25 535 1.65 0.93

03030H0040070008 M4x8 822 27 139

03030H0040070010 M4x10 822 27 139

03030H0040070012 M4x12 822 27 139

03030H0040070016 M4x16 822 27 139

03030H0040070020 M4x20 822 27 139

03030H0040070025 M4x25 822 27 139

03030H0040070030 M4x30 822 27 139

03030H0050080006 M5x6 912 27 139

03030H0050080008 M5x8 912 27 139

03030H0050080010 M5x10 9.12 27 139

03030H0050080012 M5x12 912 27 139

03030H0050080016 M5x16 912 27 139

03030H0050080020 M5x20 9.12 27 139

03030H0050080025 M5x25 912 27 139

03030H0050080030 M5x30 912 27 139

03030H0060100008 M6x8 1107 33 179

03030H0060100010 M6x10 11.07 33 179

03030H0060100012 M6x12 11.07 33 1.79

03030H0060100016 Mé6x16 11.07 33 179

03030H0060100020 M6x20 11.07 33 1.79

03030H0060100025 M6x25 11.07 33 179

03030H0060100030 M6x30 11.07 33 179

03030H0080125016 M8x16 1559 465 219

FRHEFTA BIENLAFE




e
[=Y

[ERE + 3K 48/ [ 38 — 1R 4%
Nylon-+GF/HO W 3

EHRTR Size (mm)

L

TR Rig Size (mm)
Part Number DK K Part Number M DK K n
09000H0020090005 M2x5 365 1.2 0.63 09000H0080125020 M8x20 1559 465 219
09000H0020090006 M2x6 365 12 0.63 09000H0080125025 M8x25 1559 465 219
09000H0020090008 M2x8 365 12 0.63 09000H0080125030 M8x30 1559 465 219
09000H0020040010  M2x10 3.65 1.2 063 09000H0080125035 M8x35 1559 465 219
09000H0020040012 M2x12 3.65 12 0.63 09000H0080125040 M8x40 15.59 465 219
09000H0020040016  M2x16 3.65 1.2 063 09000H0100150020 M™M10x20 18.04 5 2.69
09000H0020040020  M2x20 3.65 1.2 063 09000H0100150025 M10x25 18.04 5 2.69
09000H0030050004 M3x4 535 165 0.93 09000H0100150030 M10x30 18.04 5 2.69
09000H0030050005 M3x5 535 165 0.93 09000H0100150035 M10x35 18.04 5 2.69
09000H0030050006 M3x6 535 165 093

09000H0030050008 M3x8 535 165 0.93

09000H0030050010  M3x10 5.35 1.65 0.93

09000H0030050012 M3x12 535 1.65 093

09000H0030050016  M3x16 535 1.65 0.93

09000H0030050020  M3x20 535 1.65 0.93

09000H0030050025 M3x25 535 165 093

09000H0040070008 M4x8 822 27 139

09000H0040070010 M4x10 822 27 139

09000H0040070012 M4x12 822 27 139

09000H0040070016  M4x16 822 27 139

09000H0040070020 M4x20 822 27 139

09000H0040070025 M4x25 822 27 139

09000H0040070030  M4x30 822 27 139

09000H0050080006 M5x6 912 27 139

09000H0050080008 M5x8 912 27 139

09000H0050080010  M5x10 9.12 2.7 1.39

09000H0050080012 M5x12 912 27 139

09000H0050080016  M5x16 9.12 2.7 1.39

09000H0050080020  M5x20 9.12 27 1.39

09000H0050080025 M5x25 912 27 139

09000H0050080030  M5x30 9.12 2.7 1.39

09000H0060100008 M6x8 11.07 33 1.79

09000H0060100010  M6x10 11.07 3.3 1.79

09000H0060100012  M6x12 11.07 3.3 179

09000H0060100016  M6x16 11.07 3.3 179

09000H0060100020  M6x20 11.07 3.3 179

09000H0060100025 M6x25 11.07 3.3 179

09000H0060100030  M6%x30 11.07 3.3 1.79

09000H0080125016  M8x16 1559 465 219

FR#EFRA BIENLFE




[ERe/ B8 —F 1R 4% _. .

{
Nylon/HO !
L
EHiRE R Size (mm) EHIRR R Size (mm)
Part Number M DK K n Part Number M DK K n

00000H0020000005 M2x5 365 12 0.63 00000H0080125020 M8x20 15.59 4.65 219
00000H0020000006  M2x6  3.65 1.2 0.63 00000H0080125025 M8x25 1559 4.65 219
00000H0020000008 M2x8 365 12 0.63 00000H0080125030 M8x30 1559 4.65 219
00000H0020040010  M2x10 3.65 1.2 063 00000H0080125035 M8x35 1559 465 219
00000H0020040012  M2x12 365 1.2 063 00000H0080125040 M8x40 15.59 465 219
00000H0020040016  M2x16 3.65 1.2 063 00000H0100150020 M10x20 18.04 5 2.69
00000H0020040020  M2x20 3.65 1.2 063 00000H0100150025 M10x25 18.04 5 2.69
00000H0030050004  M3x4 535 1.65 093 00000H0100150030 M10x30 18.04 5 2.69
00000H0030050005 M3x5 535 1.65 0.93 00000H0100150035 M10x35 18.04 5 2.69
00000H0030050006  M3x6 535 165 093
00000H0030050008 M3x8 535 165 0.93
00000H0030050010  M3x10 535 165 0.93
00000H0030050012  M3x12 535 165 093
00000H0030050016  M3x16 535 1.65 0.93
00000H0030050020  M3x20 5.35 1.65 0.93
00000H0030050025  M3x25 535 1.65 0.93
00000H0040070008 M4x8 822 27 139
00000H0040070010  M4x10 822 27 139
00000H0040070012  M4x12 822 27 139
00000H0040070016  M4x16 822 27 139
00000H0040070020  M4x20 822 27 139
00000H0040070025  M4x25 822 27 139
00000H0040070030  M4x30 822 27 1.39
00000HO0050080006  M5x6 912 27 1.39
00000H0050080008 M5x8 912 27 1.39
00000H0050080010  M5x10 9.12 27 139
00000H0050080012  M5x12 912 27 139
00000H0050080016  M5x16 9.12 27 1.39
00000H0050080020  M5x20 9.12 27 1.39
00000H0050080025  M5x25 912 27 1.39
00000H0050080030  M5x30 9.12 27 139
00000H0060100008 M6x8 11.07 33 1.79
00000H0060100010  M6x10 11.07 3.3 179
00000H0060100012  M6x12 11.07 3.3 179
00000H0060100016  M6x16 11.07 3.3 1.79
00000H0060100020  M6x20 11.07 3.3 1.79
00000H0060100025  M6x25 11.07 3.3 179
00000H0060100030  M6x30 11.07 3.3 179
00000H0080125016  M8x16 15.59 4.65 219

WR#EFR7 BIENLATE



	PEEK皿頭一字
	Sheet1

	PVDF皿頭一字
	Sheet1

	PTFE皿頭一字
	Sheet1

	PFA皿頭一字
	Sheet1

	PPS皿頭一字
	Sheet1

	PP皿頭一字
	Sheet1

	PVC皿頭一字
	Sheet1

	尼龍66+GF皿頭一字
	Sheet1

	尼龍66皿頭一字
	Sheet1




